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	Тригонометрические функции.
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Графики тригонометрических функций. Вариант 2.

	Графики тригонометрических функций.


	Тригонометрические функции.
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_1483108696.txt
ÿ��<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=\cos x-3" mainformula="y=\cos x-3" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>
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_1483108766.txt
ÿ��<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=-\ctan x" mainformula="y=-\ctan x" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483109050.unknown

_1483108718.txt
ÿ
�<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=-\tan x" mainformula="y=-\tan x" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483108543.txt
ÿ
�<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=3\cos x" mainformula="y=3\cos x" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483108604.txt
ÿ
�<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=-\cos x" mainformula="y=-\cos x" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483108648.txt
ÿ��<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=\sin x+2" mainformula="y=\sin x+2" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483108575.txt
ÿ
�<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=-\sin x" mainformula="y=-\sin x" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483108474.txt
ÿ
�<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=\ctan x" mainformula="y=\ctan x" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483108503.txt
ÿ
�<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=2\sin x" mainformula="y=2\sin x" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483108294.txt
ÿ¯�<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="12"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="y=\sin x" mainformula="y=\sin x" algor="1" selPrioritet="2" hole="0"/><graph nType="2" ID="12" groupID="12" color="0" colorID="1" width="2" style="0" localformula="y=\sin x" mainformula="y=\sin x" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483108447.txt
ÿ��<?xml version="1.0"?>

<graphicX><size nWidthPix="305" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.8900750260905" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25679019505256" y="1.03899182921045" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.888077497791469" y="0.985468962740937" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.200000000000001" y="2.1" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="10.0579334036372" y="-2.20282349323393" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.1344564662093" y="-3.1142176555556" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi" mainformula="\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="9.7593451502542" y="-2.8" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi" mainformula="-\pi" algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph><graph nType="2" ID="11" groupID="11" color="0" colorID="1" width="2" style="0" localformula="y=\tan x" mainformula="y=\tan x" algor="1" selPrioritet="2" hole="0"/></graphs></graphicX>




_1483108104.txt
ÿ'�<?xml version="1.0"?>

<graphicX><size nWidthPix="290" nHeightPix="200" rMinX="-6.82056519250292" rMaxX="7.16660091697937" rMinY="-5.28463998288906" rMaxY="4.36168147192632"/><grid visible="1" stepX="1" stepY="1" color="0"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="11"><graph nType="2" ID="1" groupID="1" color="0" colorID="1" width="2" style="0" localformula="y=\cos x" mainformula="y=\cos x" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="5.00000000000007E-02" y="3.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="5.76788430603114" y="-0.316784433659138" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="0" mainformula="0" algor="7" selPrioritet="2" hole="0"><textPosition x="12.6167725389501" y="-2.4872067609926" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.98454071233962" y="1.9018695009484" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="12.568540931676" y="-2.39074354644445" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.4" y="-0.649999999999999" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="11.31451914255" y="-1.57080622278514" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="\pi " mainformula="\pi " algor="7" selPrioritet="2" hole="0"><textPosition x="2.97712625198241" y="1.52606747543302E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="\pi " mainformula="\pi " algor="7" selPrioritet="2" hole="0"><textPosition x="12.6650041462241" y="-2.77659640463706" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="11" groupID="11" color="0" colorID="1" width="1" style="0" localformula="-\pi " mainformula="-\pi " algor="7" selPrioritet="2" hole="0"><textPosition x="-3.8904035758274" y="0.143227069061346" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




